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Supplementary materials 2:
The data calculation process of verifying the Ref. 22, 23:

1. Get the AR(H) value at different magnetic fields on the curve of x=8 in Fig.4 in
the Ref. 22.
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2. Draw the curve of the H dependence of AR (H), and calculate the maximum slope

d
of the curve (dH )max =879 (W)

50 4 R ERIE

40 4

30 4

AMR

20+

3. Select the R of 210 K and 230 K on the cooling curve of x=8 in Fig.2 in the Ref.
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22, and calculate the .
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4. The equation (3) in this article is used to calculate the
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5. Now we compare the experimental result of Ref.22 with the y result. The change
of magnetization between the parent phase and the martensitic one was drawn the data
from Fig.3(a) of Ref.23, the difference in magnetization of Nis;CogMnj3,Al g between
290K and 240K taken at 6 T. That is AM=M;9p-M740=37.32 emu/g.
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AM = M,y ~ M,,,=37.32 emu/g

6. The magnetic entropy change of the alloy was 7.7 J/Kg/K at 6 T drawn from Fig.4
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7. Therefore, the dH AS from the equation (13).

8. This result 4.847K/T is closed to that calculated from MR curves, 5.71K/T. Since
the thermomagnetization curves at 6T was not given in the literature, we just use the
data at 290K and 240K to calculate the AM. The magnitude of AM may be a little bit
smaller than the actual value, and brought about the smaller value of AM/AS.



